Tim	e Statement for Joseph D. Weiler	rate A	\$325	А	
	work on the Anne Wolfe Trust Lawsuit	rate B	\$350	В	
		rate C	\$175	С	
		rate D	\$150	D	
		rate E	varies	E	
		rate F	\$250	F	
		rate G	\$300	G	(up from \$250)
	Chalgian & Tripp				
<u>#</u>	date note	<u>time</u>	ABC	rate	<u>amount</u>
1	12/23/21 review pleading, telephone call with opposing counsel	1.50	A	\$325	\$487.50
2	12/27/12 telephone call with court, work on file	0.40	С	\$175	\$70.00
3	12/29/21 review MTC and EPIC re pleadings	1.00	А	\$325	\$325.00
4	01/03/22 telephone conf with client	0.50	А	\$325	\$162.50
5	01/04/22 correspondence with opposing counsel	0.80	А	\$325	\$260.00
6	01/05/22 communicate with opposing counsel	0.50	А	\$325	\$162.50
7	01/10/22 telephone conf with client	0.50	А	\$325	\$162.50
8	01/13/22 telephone conf with opposing counsel	0.50	А	\$325	\$162.50
9	01/17/22 review correspondence	0.50	А	\$325	\$162.50
10	01/19/22 telephone conf with client	0.50	А	\$325	\$162.50
11	01/21/22 continue to work on file	0.50	А	\$325	\$162.50
12	01/25/22 review file and prepare for family meeting, telephone conf with clients	1.50	А	\$325	\$487.50
13	01/25/22 conduct family meeting	1.50	А	\$325	\$487.50
14	01/26/22 telephone conf with opposing counsel	0.50	А	\$325	\$162.50
15	01/26/22 review correspondence	0.50	А	\$325	\$162.50
	subtotal:		11.20		\$3,580.00
16	01/31/22 telephone call with client	0.50	А	\$325	\$162.50
17	01/31/22 review file notes and correspondence with opposing counsel	0.80	A	\$325	\$260.00
18	02/01/22 continue to work on file	0.80	A	\$325	\$260.00
19	02/02/22 review pleadings, review mediation strategy, telephone conf with	1.00	A	\$325	\$325.00
	client				•
20	02/03/22 review meeting notes	0.50	А	\$325	\$162.50
21	02/04/22 telephone conf with opposing counsel; review pleadings and file notes	1.00	A	\$325	\$325.00
22	02/07/22 conf with opposing counsel; review multiple communications	1.00	А	\$325	\$325.00
23	02/09/22 correspondence with opposing counsel	0.50	А	\$325	\$162.50
24	02/10/22 telephone conf with opposing counsel	0.50	А	\$325	\$162.50
25	02/11/22 review pleadings	0.80	А	\$325	\$260.00
	subtotal:		7.40		\$2,405.00
	Weiler Law Group				
26	03/01/22 continue to work on file	0.75	А	\$325	\$243.75
27	03/01/22 telephone call with client	0.50	A	\$325	\$162.50
28	03/04/22 telephone conf with opposing counsel; review pleadings	1.00	A	\$325	\$325.00
29	03/07/22 extensive phone conf with attorney George Phillips	0.75	A	\$325	\$243.75

<u>#</u>	<u>date</u>	<u>note</u>	time	<u>ABC</u>	rate	amount
30	03/08/22	telephone call with client; telephone conf with opposing counsel; review pleadings	0.75	A	\$325	\$243.75
31	03/17/22	telephone conf with opposing counsel	0.50	А	\$325	\$162.50
32	03/17/22	review pleadings and research re same	0.75	А	\$325	\$243.75
33	03/18/22	continue to work on file	0.75	А	\$325	\$243.75
34	03/21/22	continue to work on file; focus on hearing and responding to opposing counsel	1.00	А	\$325	\$325.00
35	03/21/22	telephone conf with attorney George Phillips	0.50	А	\$325	\$162.50
36	03/21/22	review file in advance of phone conf with George	0.50	А	\$325	\$162.50
37	03/22/22	continue to work on file	0.50	А	\$325	\$162.50
38	03/23/22	discuss file with attorney George Phillips	0.50	А	\$325	\$162.50
39	03/24/22	telephone conf with Cynthia	0.50	А	\$325	\$162.50
40	03/24/22	Telephone conf with attorney Phillips; review file notes	0.50	А	\$325	\$162.50
41	03/25/22	review proposed order	0.75	А	\$325	\$243.75
42	03/28/22	telephone call with client	0.50	А	\$325	\$162.50
43	03/28/22	prepare for hearing	0.75	А	\$325	\$243.75
44	03/28/22	telephone call with client	0.50	А	\$325	\$162.50
45		work on accounting	1.00	А	\$325	\$325.00
-		subtotal:		13.25		\$4,306.25
		adm	nin. Fee	5%		\$215.31
					Total:	\$4,521.56
						+ -,
46	03/29/22	work on proposed order language	0.75	А	\$325	\$243.75
47	03/30/22	telephone call with attorney Phillips	0.50	А	\$325	\$162.50
48	03/30/22	review pleadings	0.75	А	\$325	\$243.75
49	03/31/22	telephone call with George Phillips	0.50	А	\$325	\$162.50
50	03/31/22	review edits	0.50	А	\$325	\$162.50
51	04/04/22	request bank statements, review bank statement activity; prepare accountings per attorney Weiler (2017 - 2021)	5.50	D	\$150	\$825.00
52	04/04/22	review proposed order from client	0.75	А	\$325	\$243.75
53	04/04/22	telephone call with attorney Phillips	0.50	А	\$325	\$162.50
54	04/04/22	exchange e-mails	0.50	А	\$325	\$162.50
55	04/05/22	review proposed order; extensive phone call with clients	1.00	А	\$325	\$325.00
56	04/05/22	update file; prepare file for hearing	0.40	С	\$175	\$70.00
57	04/06/22	status conf	0.40	А	\$325	\$130.00
58	04/06/22	work on accounting, telephone conf with counsel; telephone conf with clients	2.00	А	\$325	\$650.00
59	04/07/22	phone call to Wells Fargo requesting statements; e-mail 3rd party form to Cynthia Wolfe for signature	0.75	D	\$150	\$112.50
60	04/07/22	review revisions, review releases; attention to questions from S. Rohn	0.50	А	\$325	\$162.50
61	04/08/22	review accountings; attention to questions	0.50	А	\$325	\$162.50
62	04/11/22	telephone conf with attorney Phillips; attention to questions from S. Rohn	0.75	А	\$325	\$243.75
63	04/12/22	telephone call with Cynthia	0.50	А	\$325	\$162.50
64	04/12/22	attention to questions from client, attorney Phillips, and S. Rohn	0.50	А	\$325	\$162.50
65	04/12/22	request documentation needed to complete accounting	0.25	D	\$150	\$37.50
66	04/13/22	telephone call with attorney Phillips	0.50	А	\$325	\$162.50

<u>#</u>	<u>date</u>	note	time	<u>ABC</u>	<u>rate</u>	amount
67		continue to work on file; review accountings	0.50	A	\$325	\$162.50
68		attention to questions from S. Rohn re accountings	0.50	A	\$325	\$162.50
69		receive and review order from Court; update file	0.30	С	\$175	\$52.50
70		continue to work on file	0.50	A	\$325	\$162.50
71		telephone conf with attorney Phillips regarding accounting	0.25	D	\$150	\$37.50
72		continue to work on file	0.50	A	\$325	\$162.50
73	04/19/22	review and analyze box of documentation provided by C. Wolfe in regard to accounting	4.50	D	\$150	\$675.00
74	04/19/22	attention to questions S. Rohn; review additional materials	1.75	А	\$325	\$568.75
75	04/20/22	review correspondence and file notes; attention to questions from S. Rohn re accounting	0.75	A	\$325	\$243.75
76	04/21/22	continue to work on file	0.75	А	\$325	\$243.75
77	04/22/22	review correspondence and e-mails	0.50	А	\$325	\$162.50
78	04/22/22	telephone conference with G. Phillips	0.50	А	\$325	\$162.50
79	04/26/22	extensive telephone conf with attorney Phillips	0.75	А	\$325	\$243.75
80	04/26/22	telephone conf with attorney Phillips	0.50	А	\$325	\$162.50
81	04/27/22	telephone conf with client	0.50	А	\$325	\$162.50
82	04/27/22	extensive telephone conf with attorney Phillips	0.75	А	\$325	\$243.75
83	04/28/22	telephone conf with attorney Phillips	0.75	А	\$325	\$243.75
84		work on accounting; telephone conf with Attorney Phillips	1.00	А	\$325	\$325.00
		subtotal:		33.85	•	\$8,927.50
		adr	nin. Fee	5%		\$446.38
				• / •	Total:	\$9,373.88
						<i></i>
85	05/02/22	prepare inventory and 5 yearly accountings to be filed with Midland Probate Court (2017 - 2021)	5.50	D	\$150	\$825.00
86	05/02/22	work on accounting	2.00	А	\$325	\$650.00
87	05/03/22	telephone conf with client re admin; review file notes	1.00	А	\$325	\$325.00
88	05/03/22	assist with inventory and accountings; draft 5 petitions for annual	3.00	С	\$175	\$525.00
		accountings 1 - 5; telephone calls with court; draft notice of hearing, telephone call with attorney Phillips office; update file			·	
89	05/04/22	postage: postage	1.00	Е	\$97.4	\$97.38
90	05/04/22	telephone conf with attorney Phillips	1.00	А	\$325	\$325.00
91	05/04/22	review pleading and correspondence	0.50	А	\$325	\$162.50
92	05/05/22	telephone conf with attorney Phillips	0.50	А	\$325	\$162.50
93	05/05/22	attention to e-mails	0.50	А	\$325	\$162.50
94	05/05/22	reimbursable expenses; Ck 1125 Midland County Probate Count; filing fee 5 accountings	1.00	Е	\$100	\$100.00
95	05/05/22	finalize accounting documents; serve on interested parties; draft proof of service; draft letter to court; hand deliver to court for filing;	2.50	С	\$175	\$437.50
		update file				
96	05/09/22	Telephone conf with attorney Phillips	0.50	А	\$325	\$162.50
97	05/09/22	review orders	0.50	А	\$325	\$162.50
98		review correspondence	0.50	А	\$325	\$162.50
99		continue to work on file; exchange correspondence	0.50	A	\$325	\$162.50
100		review proposed order	0.50	A	\$325	\$162.50
101						
101						
102	05/16/22	communicate with counsel update file with new filings	0.50 0.30	A C	\$325 \$175	\$162.50 \$52.50

# 103 104 105 106 107 108 109 110	05/24/22 05/25/22 05/25/22 05/26/22 05/26/22 05/31/22	note review correspondence review correspondence telephone conf with opposing counsel review correspondence telephone conf with opposing counsel review correspondence telephone conf with client; review e-mails prepare proposed Orders for 5 accountings; telephone and e-mail communications with court; prep file for hearing subto	otal:	<u>A B C</u> A A A A A A C 26.00	rate \$325 \$325 \$325 \$325 \$325 \$325 \$325 \$325	amount \$162.50 \$162.50 \$162.50 \$162.50 \$162.50 \$162.50 \$162.50 \$162.50 \$122.50
			admin. Fee	5%	Total:	\$293.13 \$6,353.01
-	06/02/22 06/03/22 06/03/22 06/06/22 06/06/22 06/07/22 06/09/22 06/10/22 06/10/22 06/16/22 06/16/22 06/17/22 06/22/22	prepare for hearing prepare for hearing on accountings telephone conf with attorney Phillips work on file; review with co-counsel and opposing counsel; review proposed order telephone conf with client prepare for telephone conf w/ client, telephone conf with attorneys continue to work on file, instruct D. Lind; communicate re mediation continue to work on file communicate with opposing counsel correspondence continue to work on file review file with counsel continue to work on file continue to work on file review file with counsel continue to work on file continue to work on file scontinue to work on file continue to work on file review mediation	1.00 0.75 0.75 1.00 0.50 0.50 0.75 0.50 0.50 0.75 0.50 0.50	A A A A A A A A A A A A A A 11.50 5%	\$325 \$325 \$325 \$325 \$325 \$325 \$325 \$325	\$325.00 \$487.50 \$162.50 \$325.00 \$243.75 \$243.75 \$243.75 \$325.00 \$162.50
128 129 130 131 132 133 134	07/13/22 07/14/22 07/15/22 07/15/22 07/15/22 07/18/22 07/19/22	work on mediation work on mediation work on mediation review pleadings work on mediation review pleadings work on mediation; review materials work on mediation; review materials work on and prepare for mediation telephone call with court, draft re-notice of hearing; e-mail counsel mail and mail serving interested parties; draft proof of service; draft letter to client, update file		B B B B B C	\$350 \$350 \$350 \$350 \$350 \$350 \$350 \$350	\$175.00 \$262.50 \$175.00 \$262.50 \$350.00 \$262.50 \$350.00 \$350.00 \$157.50

<u>#</u> 136 137 138	07/21/22	note work on mediation continue to work on file review correspondence sub	total: adm	<u>time</u> 0.75 0.75 0.50 in. Fee	<u>ABC</u> B B 9.15 5%	rate \$350 \$350 \$350 \$350	amount \$262.50 \$262.50 \$175.00 \$3,045.00 \$152.25 \$3,197.25
139	08/01/22	review pleadings		0.75	В	\$350	\$262.50
140	08/01/22	correspondence		0.75	В	\$350	\$262.50
141		review proposal		0.75	В	\$350	\$262.50
142		prepare for and attend hearing		0.75	В	\$350	\$262.50
143		e-mail communication with court; update and finalize 5 Orders		0.30	С	\$175	\$52.50
144		review correspondence		0.75	В	\$350	\$262.50
145		serve orders on interested parties; draft proof of service; draft le	tter	0.60	C	\$175	\$105.00
		to court, update file			-		
146	08/04/22	telephone conf with clients		1.00	В	\$350	\$350.00
147	08/08/22	review communication		0.50	В	\$350	\$175.00
148	08/09/22	telephone conf with attorney Phillips		0.50	В	\$350	\$175.00
149	08/09/22	e-mail communication to attorney Hewett regarding mediation agreement		0.20	С	\$175	\$35.00
150	08/17/22	continue to work on file		0.50	В	\$350	\$175.00
151	08/29/22	continue to work on file		0.50	В	\$350	\$175.00
		sub	total:		7.85		\$2,555.00
			adm	in. Fee	5%		\$127.75
			adm	in. Fee	5%	Total:	\$127.75 \$2,682.75
152	09/06/22	continue to work on file	adm	in. Fee 0.75		Total: \$350	
			adm	0.75	В	\$350	\$2,682.75 \$262.50
153	09/07/22	correspondence	adm	0.75 0.50	B B	\$350 \$350	\$2,682.75 \$262.50 \$175.00
153 154	09/07/22 09/12/22	correspondence	adm	0.75 0.50 0.75	В	\$350 \$350 \$350	\$2,682.75 \$262.50 \$175.00 \$262.50
153 154 155	09/07/22 09/12/22 09/13/22	correspondence work on file continue to work on file	adm	0.75 0.50 0.75 1.00	B B B	\$350 \$350 \$350 \$350	\$2,682.75 \$262.50 \$175.00 \$262.50 \$350.00
153 154 155 156	09/07/22 09/12/22 09/13/22 09/14/22	correspondence work on file	adm	0.75 0.50 0.75 1.00 1.50	B B B B	\$350 \$350 \$350 \$350 \$350	\$2,682.75 \$262.50 \$175.00 \$262.50 \$350.00 \$525.00
153 154 155 156 157	09/07/22 09/12/22 09/13/22 09/14/22 09/15/22	correspondence work on file continue to work on file prepare for mediation work on mediation	adm	0.75 0.50 0.75 1.00	B B B B B	\$350 \$350 \$350 \$350 \$350 \$350	\$2,682.75 \$262.50 \$175.00 \$262.50 \$350.00 \$525.00 \$350.00
153 154 155 156 157 158	09/07/22 09/12/22 09/13/22 09/14/22 09/15/22 09/16/22	correspondence work on file continue to work on file prepare for mediation work on mediation	adm	0.75 0.50 0.75 1.00 1.50 1.00	B B B B B B	\$350 \$350 \$350 \$350 \$350	\$2,682.75 \$262.50 \$175.00 \$262.50 \$350.00 \$525.00
153 154 155 156 157	09/07/22 09/12/22 09/13/22 09/14/22 09/15/22 09/16/22 09/16/22	correspondence work on file continue to work on file prepare for mediation work on mediation work on file review pleadings	adm	0.75 0.50 0.75 1.00 1.50 1.00 0.75	B B B B B B B	\$350 \$350 \$350 \$350 \$350 \$350 \$350 \$350	\$2,682.75 \$262.50 \$175.00 \$262.50 \$350.00 \$525.00 \$350.00 \$262.50 \$175.00
153 154 155 156 157 158 159 160	09/07/22 09/12/22 09/13/22 09/14/22 09/15/22 09/16/22 09/16/22 09/19/22	correspondence work on file continue to work on file prepare for mediation work on mediation work on file review pleadings work on file	adm	0.75 0.50 0.75 1.00 1.50 1.00 0.75 0.50 1.00	B B B B B B B B B	\$350 \$350 \$350 \$350 \$350 \$350 \$350	\$2,682.75 \$262.50 \$175.00 \$262.50 \$350.00 \$525.00 \$350.00 \$262.50 \$175.00 \$350.00
153 154 155 156 157 158 159	09/07/22 09/12/22 09/13/22 09/14/22 09/15/22 09/16/22 09/16/22 09/16/22 09/19/22	correspondence work on file continue to work on file prepare for mediation work on mediation work on file review pleadings work on file telephone conf with clients	adm	0.75 0.50 0.75 1.00 1.50 1.00 0.75 0.50	B B B B B B B B B B B	\$350 \$350 \$350 \$350 \$350 \$350 \$350 \$350	\$2,682.75 \$262.50 \$175.00 \$262.50 \$350.00 \$525.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50
153 154 155 156 157 158 159 160 161	09/07/22 09/12/22 09/13/22 09/14/22 09/15/22 09/16/22 09/16/22 09/16/22 09/20/22 09/20/22	correspondence work on file continue to work on file prepare for mediation work on mediation work on file review pleadings work on file	adm	0.75 0.50 0.75 1.00 1.50 1.00 0.75 0.50 1.00 0.75 0.50	B B B B B B B B B B B B	\$350 \$350 \$350 \$350 \$350 \$350 \$350 \$350	\$2,682.75 \$262.50 \$175.00 \$262.50 \$350.00 \$525.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00
153 154 155 156 157 158 159 160 161 162	09/07/22 09/12/22 09/13/22 09/14/22 09/15/22 09/16/22 09/16/22 09/19/22 09/20/22 09/20/22 09/20/22	correspondence work on file continue to work on file prepare for mediation work on mediation work on file review pleadings work on file telephone conf with clients review pleadings		0.75 0.50 0.75 1.00 1.50 1.00 0.75 0.50 1.00 0.75	B B B B B B B B B B B	\$350 \$350 \$350 \$350 \$350 \$350 \$350 \$350	\$2,682.75 \$262.50 \$175.00 \$262.50 \$350.00 \$525.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50
153 154 155 156 157 158 159 160 161 162 163 164	09/07/22 09/12/22 09/13/22 09/14/22 09/15/22 09/16/22 09/16/22 09/19/22 09/20/22 09/20/22 09/20/22	correspondence work on file continue to work on file prepare for mediation work on mediation work on file review pleadings work on file telephone conf with clients review pleadings work on mediation	ewett el; e-	0.75 0.50 0.75 1.00 1.50 1.00 0.75 0.50 1.00 0.75 0.50 1.00	B B B B B B B B B B B B B B B B B B B	\$350 \$350 \$350 \$350 \$350 \$350 \$350 \$350	\$2,682.75 \$262.50 \$175.00 \$262.50 \$350.00 \$525.00 \$350.00 \$262.50 \$175.00 \$262.50 \$175.00 \$350.00
153 154 155 156 157 158 159 160 161 162 163 164 165	09/07/22 09/12/22 09/13/22 09/14/22 09/15/22 09/16/22 09/16/22 09/19/22 09/20/22 09/20/22 09/20/22 09/20/22 09/20/22	correspondence work on file continue to work on file prepare for mediation work on mediation work on file review pleadings work on file telephone conf with clients review pleadings work on mediation prepare draft of mediation summary letter to mediator Chuck He finalize summary to mediator; e-mail communication with counse mail communication with client; prepare file for mediation meetin	ewett el; e-	0.75 0.50 0.75 1.00 1.50 1.00 0.75 0.50 1.00 0.75 0.50 1.00 0.70	B B B B B B B B B B B B B B C C	\$350 \$350 \$350 \$350 \$350 \$350 \$350 \$350	\$2,682.75 \$262.50 \$175.00 \$262.50 \$350.00 \$525.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$252.00 \$122.50 \$122.50
153 154 155 156 157 158 159 160 161 162 163 164 165	09/07/22 09/12/22 09/13/22 09/14/22 09/15/22 09/16/22 09/16/22 09/16/22 09/20/22 09/20/22 09/20/22 09/20/22 09/20/22	correspondence work on file continue to work on file prepare for mediation work on mediation work on file review pleadings work on file telephone conf with clients review pleadings work on mediation prepare draft of mediation summary letter to mediator Chuck He finalize summary to mediator; e-mail communication with counse mail communication with client; prepare file for mediation meetin prepare for mediation	ewett el; e-	0.75 0.50 0.75 1.00 1.50 1.00 0.75 0.50 1.00 0.75 0.50 1.00 0.70 2.00	B B B B B B B B B B B B B B C C B	\$350 \$350 \$350 \$350 \$350 \$350 \$350 \$350	\$2,682.75 \$262.50 \$175.00 \$262.50 \$350.00 \$2525.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$122.50 \$122.50
153 154 155 156 157 158 159 160 161 162 163 164 165 166 167	09/07/22 09/12/22 09/13/22 09/14/22 09/15/22 09/16/22 09/16/22 09/20/22 09/20/22 09/20/22 09/20/22 09/20/22 09/20/22 09/21/22	correspondence work on file continue to work on file prepare for mediation work on mediation work on file review pleadings work on file telephone conf with clients review pleadings work on mediation prepare draft of mediation summary letter to mediator Chuck He finalize summary to mediator; e-mail communication with counse mail communication with client; prepare file for mediation meetin prepare for mediation	ewett el; e-	0.75 0.50 0.75 1.00 1.50 1.00 0.75 0.50 1.00 0.75 0.50 1.00 0.70 0.70 2.00 7.00	B B B B B B B B B B B B B B B B B B B	\$350 \$350 \$350 \$350 \$350 \$350 \$350 \$350	\$2,682.75 \$262.50 \$175.00 \$262.50 \$350.00 \$2525.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$122.50 \$122.50 \$122.50 \$122.50
153 154 155 156 157 158 159 160 161 162 163 164 165	09/07/22 09/12/22 09/13/22 09/14/22 09/15/22 09/16/22 09/16/22 09/20/22 09/20/22 09/20/22 09/20/22 09/20/22 09/20/22 09/21/22 09/21/22 09/22/22 09/23/22	correspondence work on file continue to work on file prepare for mediation work on mediation work on file review pleadings work on file telephone conf with clients review pleadings work on mediation prepare draft of mediation summary letter to mediator Chuck He finalize summary to mediator; e-mail communication with counse mail communication with client; prepare file for mediation meetin prepare for mediation	ewett el; e-	0.75 0.50 0.75 1.00 1.50 1.00 0.75 0.50 1.00 0.75 0.50 1.00 0.70 2.00	B B B B B B B B B B B B B B C C B	\$350 \$350 \$350 \$350 \$350 \$350 \$350 \$350	\$2,682.75 \$262.50 \$175.00 \$262.50 \$350.00 \$2525.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$350.00 \$262.50 \$175.00 \$350.00 \$122.50 \$122.50

<u>#</u>	<u>date</u>	note	<u>tin</u>	ne	<u>A B C</u>	<u>rate</u>	<u>amount</u>
170	09/27/22	multiple emails with counsel regarding scheduling continuation of	of 0.8	50	С	\$175	\$87.50
171	00/27/22	mediation attend and conduct status conf	0.5	50	В	\$350	\$175.00
172	09/27/22		0.2		C	\$175	\$35.00
173		e-mail communication with all counsel; e-mail communication wi			B	\$350	\$175.00
		client - regarding mediation			_	<i>+••••</i>	+ · · · • · • •
174	09/28/22	correspondence/conference with opposing counsel	0.7	75	В	\$350	\$262.50
		sub	total:	_	24.35		\$8,155.00
			admin.	Fee	5%		\$407.75
						Total:	\$8,562.75
175	10/03/22	work on file	0.7	75	В	\$350	\$262.50
176	10/04/22	work on file	1.(00	В	\$350	\$350.00
177	10/05/22	work on file	1.(00	В	\$350	\$350.00
178	10/06/22	work on file	1.(00	В	\$350	\$350.00
179	10/07/22	work on file	1.(00	В	\$350	\$350.00
180	10/10/22	telephone conf with client	0.5	50	В	\$350	\$175.00
181	10/10/22	continue to work on file	1.5	50	В	\$350	\$525.00
182	10/11/22	work on file / mediation	1.8	50	В	\$350	\$525.00
183	10/12/22	work on mediation	1.5	50	В	\$350	\$525.00
184	10/13/22	attend and conduct mediation	3.0	00	В	\$350	\$1,050.00
185	10/13/22	attend mediation	2.4	40	F	\$250	\$600.00
186	10/14/22	work on file	1.(00	В	\$350	\$350.00
187	10/17/22	work on file; telephone conf with client	0.7	75	В	\$350	\$262.50
188	10/18/22	work on file	1.(00	В	\$350	\$350.00
189	10/19/22	telephone conf with client	0.8	50	В	\$350	\$175.00
190	10/19/22	telephone conf with attorney Phillips	0.3	30	В	\$350	\$105.00
191	10/20/22	continue to work on file	0.7	75	В	\$350	\$262.50
192	10/24/22	telephone conf with client; review e-mails	0.8	50	В	\$350	\$175.00
193	10/25/22	review file in advance; attend and conduct hearing	0.8	50	В	\$350	\$175.00
194	10/25/22	work on agreements re settlement	1.(00	В	\$350	\$350.00
195	10/25/22	prepare draft of stipulation and order approving stipulated agree for petty cash account and closing of courts file; prepare draft of mutual release and hold harmless agreement		50	С	\$175	\$262.50
196	10/27/22	work on settlement documentation and order	1.5	50	В	\$350	\$525.00
197	10/27/22	e-mail communications with counsel	0.3		С	\$175	\$52.50
198	10/31/22	review correspondence	0.5	50	В	\$350	\$175.00
199		review settlement agreements and order and e-mails	1.(00	В	\$350	\$350.00
		sub	total:		26.25		\$8,632.50
			admin.	Fee	5%		\$431.63
						Total:	\$9,064.13
200	11/04/22	correspondence	0.5	50	В	\$350	\$175.00
200		review e-mails	0.7		B	\$350	\$262.50
202		work on file; review releases; telephone conf with client; telepho			B	\$350	\$350.00
		conf with attorney Phillips					
203	11/15/22	review materials and release	0.8	50	В	\$350	\$175.00

<u>#</u>	<u>date</u>	note		<u>time</u>	<u>A B C</u>	<u>rate</u>	<u>amount</u>
204		work on release and communication with client		0.50	В	\$350	\$175.00
205		continue work on hold harmless agreement		0.70	С	\$175	\$122.50
206		communicate with counsel and client		0.50	В	\$350	\$175.00
207		work on file		0.50	В	\$350	\$175.00
208		prepare for phone conference		0.50	В	\$350	\$175.00
209	11/30/22	begin draft of motion to enforce execution of mutual release		1.00	С	\$175	\$175.00
		agreement; draft notice of hearing; telephone call with court; se interested parties; e-mail with counsel; draft letter to court, upd					
210	11/30/22	attend status conf; make notes to file re same		0.50	В	\$350	\$175.00
		su	btotal:		6.95		\$2,135.00
			adn	nin. Fee	5%		\$106.75
						Total:	\$2,241.75
				Previou	us Gran	d Total:	\$55,906.44
211	12/01/22	work on pleadings, review order		1.00	В	\$350	\$350.00
212		continued work on mottion, draft notice of hearing, etc		1.00	C	\$175	\$175.00
213		expense - postage			Ū	VIIO	\$9.90
214		expense - Probate Court filing fee					\$20.00
215		attention to e-maila		0.50	В	\$350	\$175.00
216		attention to documents		0.50	В	\$350	\$175.00
217	12/15/22			0.50	В	\$350	\$175.00
	12/10/22			0.00	2	<i>Q</i> UUU	
		SU	btotal:		4.50		¢1 070 00
					4.00		\$1,079.90
				nin. Fee	- 5%		\$52.50
				nin. Fee		Total:	•
							\$52.50 \$1,132.40
218	12/27/22		adn	1.00	5% B	Total: \$350	\$52.50 \$1,132.40 \$350.00
218	12/27/22		adn		5%		\$52.50 \$1,132.40
218	12/27/22		adn	1.00	5% B		\$52.50 \$1,132.40 \$350.00
218	12/27/22		adn	1.00 nin. Fee	5% B 5%	\$350 Total:	\$52.50 \$1,132.40 \$350.00 \$17.50 \$367.50
218	12/27/22		adn	1.00 nin. Fee	5% B 5%	\$350 Total:	\$52.50 \$1,132.40 \$350.00 \$17.50
218			adn	1.00 nin. Fee	5% B 5%	\$350 Total:	\$52.50 \$1,132.40 \$350.00 \$17.50 \$367.50
	01/04/23	work on file	adn	1.00 nin. Fee 202	5% B 5% 22 Gran	\$350 Total: d Total:	\$52.50 \$1,132.40 \$350.00 \$17.50 \$367.50 \$57,406.34
219	01/04/23 01/04/23	work on file prepare for and attend hearing	adn	1.00 nin. Fee 202 1.00	5% B 5% 22 Gran F	\$350 Total: d Total: \$250	\$52.50 \$1,132.40 \$350.00 \$17.50 \$367.50 \$57,406.34 \$250.00
219 220	01/04/23 01/04/23 01/04/23	work on file prepare for and attend hearing prepare for and attend hearing attention to questions from client prep file for hearing, draft Order, telephone and email commun	adn adn	1.00 nin. Fee 202 1.00 1.00	5% B 5% 22 Gran F B	\$350 Total: d Total: \$250 \$350	\$52.50 \$1,132.40 \$350.00 \$17.50 \$367.50 \$57,406.34 \$250.00 \$350.00
219 220 221	01/04/23 01/04/23 01/04/23 01/04/23	work on file prepare for and attend hearing prepare for and attend hearing attention to questions from client	adn adn	1.00 nin. Fee 202 1.00 1.00 0.50	5% B 5% 22 Gran F B B	\$350 Total: d Total: \$250 \$350 \$350	\$52.50 \$1,132.40 \$350.00 \$17.50 \$367.50 \$57,406.34 \$250.00 \$350.00 \$175.00
219 220 221 222	01/04/23 01/04/23 01/04/23 01/04/23 01/05/23	work on file prepare for and attend hearing prepare for and attend hearing attention to questions from client prep file for hearing, draft Order, telephone and email commun with client	adn adn	1.00 nin. Fee 202 1.00 1.00 0.50 0.50	5% B 5% 22 Gran F B B B B	\$350 Total: d Total: \$250 \$350 \$350 \$350	\$52.50 \$1,132.40 \$350.00 \$17.50 \$367.50 \$57,406.34 \$250.00 \$350.00 \$175.00 \$175.00
219 220 221 222 223	01/04/23 01/04/23 01/04/23 01/04/23 01/05/23 01/05/23	work on file prepare for and attend hearing prepare for and attend hearing attention to questions from client prep file for hearing, draft Order, telephone and email commun with client work on motion to show cause	adn adn	1.00 nin. Fee 202 1.00 1.00 0.50 0.50 0.84	5% B 5% 22 Gran F B B B F B	\$350 Total: d Total: \$250 \$350 \$350 \$350 \$350	\$52.50 \$1,132.40 \$350.00 \$17.50 \$367.50 \$57,406.34 \$250.00 \$350.00 \$175.00 \$175.00 \$175.00 \$175.00 \$175.00
219 220 221 222 223 224	01/04/23 01/04/23 01/04/23 01/04/23 01/05/23 01/05/23 01/05/23	work on file prepare for and attend hearing prepare for and attend hearing attention to questions from client prep file for hearing, draft Order, telephone and email commun with client work on motion to show cause work on motion	adn adn	1.00 nin. Fee 202 1.00 1.00 0.50 0.50 0.84 0.75	5% B 5% 22 Gran F B B B F B B B	\$350 Total: d Total: \$250 \$350 \$350 \$350 \$350 \$350	\$52.50 \$1,132.40 \$350.00 \$17.50 \$367.50 \$57,406.34 \$250.00 \$350.00 \$175.00 \$175.00 \$175.00 \$175.00 \$262.50 \$262.50
219 220 221 222 223 224 225	01/04/23 01/04/23 01/04/23 01/04/23 01/05/23 01/05/23 01/06/23 01/06/23	work on file prepare for and attend hearing prepare for and attend hearing attention to questions from client prep file for hearing, draft Order, telephone and email commun with client work on motion to show cause work on motion attention to questions	adn adn	1.00 nin. Fee 202 1.00 1.00 0.50 0.50 0.84 0.75	5% B 5% 22 Gran F B B B F B	\$350 Total: d Total: \$250 \$350 \$350 \$350 \$350 \$350	\$52.50 \$1,132.40 \$350.00 \$17.50 \$367.50 \$57,406.34 \$250.00 \$350.00 \$175.00 \$175.00 \$175.00 \$175.00 \$210.00 \$262.50

<u>#</u>	<u>date</u>	note	<u>time</u> 0.50	<u>ABC</u>	rate	amount
228		attention to questions from D. Lind		B	\$350	\$175.00
229	01/09/23	Telephone call with process server, prepare documents for service on Hal Wolff, update file	0.50	С	\$175	\$87.50
230	01/09/23	Prepare 6th Annual Accounting per Attorney Weiler	2.50	D	\$150	\$375.00
231	01/15/23	Serve counsel Malicoat & Phillips by email, fax and regular US mail	1.00	С	\$175	\$175.00
		the Motion and Order to Show Cause with Notice of Hearing; serve interested parties by mail, email to clients, draft letter to court, update file				
232	01/16/23	attention to questions	0.50	В	\$350	\$175.00
233	01/16/23	reimbursable expenses: Ck 1639 Mike Hayes, personal service on Hal Wolff	1.00	E	\$268	\$268.00
234	01/18/23	review accounting	0.75	В	\$350	\$262.50
235	01/20/23	review pleadings	1.00	В	\$350	\$350.00
236	01/23/23	review pleadings	1.00	В	\$350	\$350.00
237	01/23/23	Update file; email communication to clients	0.20	С	\$175	\$35.00
238	01/24/23	Telehpone conf. with clients	0.75	В	\$350	\$262.50
239	01/25/23	Review communications, telephone conference with opposing counsel	0.50	В	\$350	\$175.00
240	01/27/23	attention to questions	0.50	В	\$350	\$175.00
241	01/30/23	Review file/work on same	0.75	В	\$350	\$262.50
242	01/31/23	Telephone conferences with councel	0.50	В	\$350	\$175.00
		subtotal:		18.09		\$5,148.00
		adn	nin. Fee	5%		\$243.00
		adn پ \$5,758.50			Total:	\$243.00 \$5,391.00
243	02/28/23				Total: \$350	
243 244		\$5,758.50	per invoi	ice		\$5,391.00
		\$5,758.50 Correspondence email communicaztion from court, receive and review order after hearing, email copy to clients, contact process server, prepare	per invoi 0.50	ice B	\$350	\$5,391.00 \$175.00
244	02/01/23	\$5,758.50 Correspondence email communicaztion from court, receive and review order after hearing, email copy to clients, contact process server, prepare second froof of service for personal service on Hal Wolff	per invoi 0.50 0.30	ice B C	\$350 \$175	\$5,391.00 \$175.00 \$52.50
244 245	02/01/23	\$5,758.50 Correspondence email communicaztion from court, receive and review order after hearing, email copy to clients, contact process server, prepare second froof of service for personal service on Hal Wolff Attend hearing	per invoi 0.50 0.30 1.00	ice B C B	\$350 \$175 \$350	\$5,391.00 \$175.00 \$52.50 \$350.00
244 245 246	02/01/23 02/01/23 02/01/23	\$5,758.50 Correspondence email communicaztion from court, receive and review order after hearing, email copy to clients, contact process server, prepare second froof of service for personal service on Hal Wolff Attend hearing Prepare for hearing	per invoi 0.50 0.30 1.00 1.00	ice B C B B	\$350 \$175 \$350 \$350	\$5,391.00 \$175.00 \$52.50 \$350.00 \$350.00
244 245	02/01/23 02/01/23 02/01/23 02/01/23	\$5,758.50 Correspondence email communicaztion from court, receive and review order after hearing, email copy to clients, contact process server, prepare second froof of service for personal service on Hal Wolff Attend hearing Prepare for hearing Attend hearing Tx and email communication with Bria at the Wastenaw County	per invoi 0.50 0.30 1.00	ice B C B	\$350 \$175 \$350	\$5,391.00 \$175.00 \$52.50 \$350.00
244 245 246 247	02/01/23 02/01/23 02/01/23 02/01/23	\$5,758.50 Correspondence email communicaztion from court, receive and review order after hearing, email copy to clients, contact process server, prepare second froof of service for personal service on Hal Wolff Attend hearing Prepare for hearing Attend hearing Tx and email communication with Bria at the Wastenaw County Shariff Dept.	per invoi 0.50 0.30 1.00 1.00 1.00	ice B C B G C	\$350 \$175 \$350 \$350 \$300 \$175	\$5,391.00 \$175.00 \$52.50 \$350.00 \$350.00 \$300.00 \$35.00
244 245 246 247 248	02/01/23 02/01/23 02/01/23 02/01/23 02/02/23	\$5,758.50 Correspondence email communicaztion from court, receive and review order after hearing, email copy to clients, contact process server, prepare second froof of service for personal service on Hal Wolff Attend hearing Prepare for hearing Attend hearing Tx and email communication with Bria at the Wastenaw County Shariff Dept.	per invoi 0.50 0.30 1.00 1.00 1.00 0.20	ice B C B B G C B	\$350 \$175 \$350 \$350 \$300 \$175 \$350	\$5,391.00 \$175.00 \$52.50 \$350.00 \$350.00 \$300.00 \$35.00 \$262.50
244 245 246 247 248 249	02/01/23 02/01/23 02/01/23 02/01/23 02/02/23 02/02/23 02/02/23	\$5,758.50 Correspondence email communicaztion from court, receive and review order after hearing, email copy to clients, contact process server, prepare second froof of service for personal service on Hal Wolff Attend hearing Prepare for hearing Attend hearing Tx and email communication with Bria at the Wastenaw County Shariff Dept. work on file	0.50 0.30 1.00 1.00 1.00 0.20 0.75	ice B C B G C	\$350 \$175 \$350 \$350 \$300 \$175	\$5,391.00 \$175.00 \$52.50 \$350.00 \$350.00 \$300.00 \$35.00
 244 245 246 247 248 249 250 251 	02/01/23 02/01/23 02/01/23 02/02/23 02/02/23 02/02/23 02/06/23	\$5,758.50 Correspondence email communicaztion from court, receive and review order after hearing, email copy to clients, contact process server, prepare second froof of service for personal service on Hal Wolff Attend hearing Prepare for hearing Attend hearing Tx and email communication with Bria at the Wastenaw County Shariff Dept. work on file Telehpone conf. with client Email communication with court, telephone call with Anne, update file Reimbursable expenses - Ck 1691; Judicial Services Group LTD;	per invoi 0.50 0.30 1.00 1.00 0.20 0.75 0.50	ice B C B G C B B B	\$350 \$175 \$350 \$350 \$300 \$175 \$350 \$350	\$5,391.00 \$175.00 \$52.50 \$350.00 \$350.00 \$300.00 \$35.00 \$262.50 \$175.00
 244 245 246 247 248 249 250 251 252 	02/01/23 02/01/23 02/01/23 02/01/23 02/02/23 02/02/23 02/06/23 02/06/23	\$5,758.50Correspondenceemail communicaztion from court, receive and review order afterhearing, email copy to clients, contact process server, preparesecond froof of service for personal service on Hal WolffAttend hearingPrepare for hearingAttend hearingTx and email communication with Bria at the Wastenaw CountyShariff Dept.work on fileTelehpone conf. with clientEmail communication with court, telephone call with Anne, update fileReimbursable expenses - Ck 1691; Judicial Services Group LTD;Washtenaw Sherrif, personal serice fee - Hal Wolfff	per invoi 0.50 0.30 1.00 1.00 0.20 0.75 0.50 0.20	ice B C B G C B B C E	\$350 \$175 \$350 \$350 \$300 \$175 \$350 \$350 \$175	\$5,391.00 \$175.00 \$52.50 \$350.00 \$350.00 \$300.00 \$35.00 \$262.50 \$175.00 \$35.00 \$35.00
 244 245 246 247 248 249 250 251 252 253 	02/01/23 02/01/23 02/01/23 02/02/23 02/02/23 02/06/23 02/06/23 02/06/23 02/06/23	\$5,758.50Correspondenceemail communicaztion from court, receive and review order after hearing, email copy to clients, contact process server, prepare second froof of service for personal service on Hal Wolff Attend hearingPrepare for hearingAttend hearingTx and email communication with Bria at the Wastenaw County Shariff Dept. work on fileTelehpone conf. with clientEmail communication with court, telephone call with Anne, update fileReimbursable expenses - Ck 1691; Judicial Services Group LTD; Washtenaw Sherrif, personal serice fee - Hal Wolfff work on pleadings	per invoi 0.50 0.30 1.00 1.00 0.20 0.75 0.50 0.20	ice B C B G C B B C E B	\$350 \$175 \$350 \$350 \$175 \$350 \$350 \$175 \$350	\$5,391.00 \$175.00 \$52.50 \$350.00 \$350.00 \$300.00 \$35.00 \$262.50 \$175.00 \$35.00 \$175.00 \$35.00 \$262.50
 244 245 246 247 248 249 250 251 252 253 254 	02/01/23 02/01/23 02/01/23 02/02/23 02/02/23 02/06/23 02/06/23 02/06/23 02/06/23	\$5,758.50Correspondenceemail communicaztion from court, receive and review order after hearing, email copy to clients, contact process server, prepare second froof of service for personal service on Hal Wolff Attend hearingPrepare for hearingAttend hearingTx and email communication with Bria at the Wastenaw County Shariff Dept. work on fileTelehpone conf. with clientEmail communication with court, telephone call with Anne, update fileReimbursable expenses - Ck 1691; Judicial Services Group LTD; Wastenaw Sherrif, personal serice fee - Hal Wolfff work on pleadings Telehpone conf. with client	per invoi 0.50 0.30 1.00 1.00 0.20 0.75 0.50 0.20 0.75 0.50	ice B C B G C B B C E B B B	\$350 \$175 \$350 \$350 \$175 \$350 \$350 \$175 \$350 \$350	\$5,391.00 \$175.00 \$52.50 \$350.00 \$350.00 \$350.00 \$350.00 \$350.00 \$350.00 \$350.00 \$350.00 \$262.50 \$175.00 \$81.88 \$262.50 \$175.00
244 245 246 247 248 249 250 251 252 253 254 255	02/01/23 02/01/23 02/01/23 02/02/23 02/02/23 02/06/23 02/06/23 02/06/23 02/06/23 02/06/23 02/07/23 02/07/23 02/07/23	\$5,758.50Correspondenceemail communicaztion from court, receive and review order after hearing, email copy to clients, contact process server, prepare second froof of service for personal service on Hal Wolff Attend hearingPrepare for hearingAttend hearingTx and email communication with Bria at the Wastenaw County Shariff Dept. work on fileTelehpone conf. with clientEmail communication with court, telephone call with Anne, update fileReimbursable expenses - Ck 1691; Judicial Services Group LTD; Washtenaw Sherrif, personal serice fee - Hal Wolfff work on pleadingsTelehpone conf. with clientwork on pleadingsTelehpone conf. with client work on pleadings	per invoi 0.50 0.30 1.00 1.00 0.20 0.75 0.50 0.20 0.75 0.50 0.75	ice B C B B G C B B C E B B B B B	\$350 \$175 \$350 \$300 \$175 \$350 \$350 \$175 \$350 \$350 \$350 \$350	\$5,391.00 \$175.00 \$52.50 \$350.00 \$350.00 \$300.00 \$35.00 \$262.50 \$175.00 \$35.00 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50
244 245 246 247 248 250 251 252 253 254 255 256	02/01/23 02/01/23 02/01/23 02/02/23 02/02/23 02/06/23 02/06/23 02/06/23 02/06/23 02/07/23 02/07/23 02/07/23 02/09/23	\$5,758.50Correspondenceemail communicaztion from court, receive and review order after hearing, email copy to clients, contact process server, prepare second froof of service for personal service on Hal Wolff Attend hearingPrepare for hearingAttend hearingTx and email communication with Bria at the Wastenaw County Shariff Dept. work on fileTelehpone conf. with clientEmail communication with court, telephone call with Anne, update fileReimbursable expenses - Ck 1691; Judicial Services Group LTD; Washtenaw Sherrif, personal serice fee - Hal Wolfff work on pleadingsTelehpone conf. with clientwork on pleadingsattention to questions from Attorney King	per invoi 0.50 0.30 1.00 1.00 1.00 0.20 0.75 0.50 0.75 0.50 0.75 0.50	ice B C B B C B B C E B B B B B B B B	\$350 \$175 \$350 \$350 \$175 \$350 \$350 \$350 \$350 \$350 \$350 \$350	\$5,391.00 \$175.00 \$52.50 \$350.00 \$350.00 \$350.00 \$350.00 \$262.50 \$175.00 \$35.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00
244 245 246 247 248 249 250 251 252 253 254 255	02/01/23 02/01/23 02/01/23 02/02/23 02/02/23 02/06/23 02/06/23 02/06/23 02/06/23 02/07/23 02/07/23 02/07/23 02/09/23 02/09/23 02/15/23	\$5,758.50Correspondenceemail communicaztion from court, receive and review order after hearing, email copy to clients, contact process server, prepare second froof of service for personal service on Hal Wolff Attend hearingPrepare for hearingAttend hearingTx and email communication with Bria at the Wastenaw County Shariff Dept. work on fileTelehpone conf. with clientEmail communication with court, telephone call with Anne, update fileReimbursable expenses - Ck 1691; Judicial Services Group LTD; Washtenaw Sherrif, personal serice fee - Hal Wolfff work on pleadingsTelehpone conf. with clientwork on pleadingsTelehpone conf. with client work on pleadings	per invoi 0.50 0.30 1.00 1.00 0.20 0.75 0.50 0.20 0.75 0.50 0.75	ice B C B B G C B B C E B B B B B	\$350 \$175 \$350 \$300 \$175 \$350 \$350 \$175 \$350 \$350 \$350 \$350	\$5,391.00 \$175.00 \$52.50 \$350.00 \$350.00 \$300.00 \$35.00 \$262.50 \$175.00 \$35.00 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50
244 245 246 247 248 249 250 251 252 253 254 255 256 257	02/01/23 02/01/23 02/01/23 02/02/23 02/02/23 02/06/23 02/06/23 02/06/23 02/06/23 02/07/23 02/07/23 02/09/23 02/09/23 02/09/23 02/15/23 02/20/23	\$5,758.50Correspondenceemail communicaztion from court, receive and review order afterhearing, email copy to clients, contact process server, preparesecond froof of service for personal service on Hal WolffAttend hearingPrepare for hearingAttend hearingTx and email communication with Bria at the Wastenaw CountyShariff Dept.work on fileTelehpone conf. with clientEmail communication with court, telephone call with Anne, update fileReimbursable expenses - Ck 1691; Judicial Services Group LTD;Washtenaw Sherrif, personal serice fee - Hal Wolfffwork on pleadingsTelehpone conf. with clientwork on pleadingsattention to questions from Attorney Kingattention to questions	per invoi 0.50 0.30 1.00 1.00 0.20 0.75 0.50 0.20 0.75 0.50 0.75 0.50 0.50 0.50	ice B C B B C B B C E B B B B B B B B B B B	\$350 \$175 \$350 \$350 \$175 \$350 \$350 \$350 \$350 \$350 \$350 \$350 \$35	\$5,391.00 \$175.00 \$52.50 \$350.00 \$350.00 \$350.00 \$35.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$262.50 \$175.00 \$175.00

<u>#</u>	<u>date</u>	note	<u>time</u>	<u>A B C</u>	<u>rate</u>	<u>amount</u>
260	02/23/23	Work on file	0.50	В	\$350	\$175.00
261	02/23/23	Work on motion draft	1.70	G	\$300	\$510.00
262	02/27/23	attention to questions	0.50	В	\$350	\$175.00
263	02/28/23	Correspondence	0.50	В	\$350	\$175.00
		subtotal		13.34		\$4,433.88
		ad	min. Fee	5%		\$217.60
					Total:	\$4,651.48
264	03/01/23	attention to questions; telephone conference with attorney Phillips,	0.50	В	\$350	\$175.00
265	02/02/22	review proposed order Attention to questions from client	0.50	В	\$350	\$175.00
265 266		Telehpone conf. with client	0.30	B	\$350 \$350	\$175.00 \$262.50
		Telehpone conferences with client, opposing councel and with public			-	
267	03/06/23	quardian (ie G. Phillips)	0.75	В	\$350	\$262.50
268	03/07/23	Telehpone conf. with public guardian (ie G. Philllips)	0.50	В	\$350	\$175.00
269	03/09/23	Telehpone conf. with clients	0.75	В	\$350	\$262.50
270	03/09/23	Prepare petition to allow 6th annual account; email to Chris and	0.30	С	\$175	\$52.50
074	00/40/00	Cynthis for signiture	0.50	Б	ФО ГО	Ф475 00
271		Correspondence with counsel	0.50	В	\$350 ¢250	\$175.00
272		Work on COTE issue	0.75	B	\$350	\$262.50
273		Prepare petty cash Trust	1.00	С	\$175	\$175.00
274		Finalize trust administration documents	0.75	В	\$350	\$262.50
274		Cinalise COTE, attention to questions	0.50	В	\$350	\$175.00
275		Telehpone conf. with councel; communication with clients	0.40	В	\$350	\$140.00
276		Work on file; attention to account questions	0.50	В	\$350	\$175.00
277		Finalize accounting; attention to questions from D. Lind	1.00	В	\$350	\$350.00
278	03/22/23	Reimbursable expenses - Ck 1778; Midland Probate Court filing fee		E		\$20.00
279	03/27/23	Prepare Certificate of Trust for Petty Cash Subtrust Account	1.00	В	\$350	\$350.00
280	03/27/23	Draft and send letter to court filing documents; serve interested	0.70	С	\$175	\$122.50
		parties, draft and file proof of servoice file	<u> </u>	_		• • •
281		Work on file	0.50	В	\$350	\$175.00
282	03/31/23	Draft proposed Order Allowing 6th Annual account email to the court	0.20	С	\$175	\$35.00

		subtotal: admin. Fee	11.85 5%	Total:	\$3,782.50 \$188.13 \$3,970.63
283	04/03/23 Telehpone conf. with councel	0.50	В	\$350	\$175.00
284	04/04/23 Telehpone conf. with clients and telehpone conf. with counce	el 0.75	В	\$350	\$262.50
285	04/12/23 Attention to questions re accounting	0.50	В	\$350	\$175.00
286	04/13/23 Work on accounting issues	0.75	В	\$350	\$262.50
287	04/14/23 Work on accounting	0.50	В	\$350	\$175.00
288	04/14/23 Telephone conference with attorney Phillips	0.50	В	\$350	\$175.00
289	04/17/23 Communicate with councel, attention to questions from D. Li	nd 0.50	В	\$350	\$175.00

<u>#</u> 290 291 292	04/18/23 04/19/23	note Email communication with clients, email with counsel, email communication with court, telephone call with attorney Mailicoat Attention to questions from D. Lind Attention to questions	<u>time</u> 0.30 0.50 0.50	ABC C B B	<u>rate</u> \$175 \$350 \$350	<u>amount</u> \$52.50 \$175.00 \$175.00
293		Email communication with court, email communication with counsel, draft proof of service, draft and send letter to court, update file Attention to questions	0.40	C	\$175 \$350	\$70.00
294 295	04/14/23		0.50 0.75	B B	\$350 \$350	\$175.00 \$262.50
		subtotal ac	: Imin. Fee	6.95 5%	Total:	\$2,310.00 \$115.50 \$2,425.50
296	05/01/23	Attention to questions	0.50	В	\$350	\$175.00
297		Attention to questions	0.50	В	\$350	\$175.00
298	05/11/23	Attention to correspondence	0.50	В	\$350	\$175.00
299	05/11/23	Email communication with attorney Malicoat	0.20	С	\$175	\$35.00
300		Updae prposed order allowing 6th annual accounting; email with court	0.20	С	\$175	\$35.00
301	05/15/23	Telehpone conf. with councel	0.50	В	\$350	\$175.00
302		Attention to questions	0.50	В	\$350	\$175.00
303		Prepare for hearing; conf with counsel, attend and conduct same, review voluminous pleadings and website of Hal	2.50	В	\$350	\$875.00
304		Review pleading; attend hearing	0.50	G	\$300	\$150.00
305	05/30/23	Serve order allowing 6th annual account; draft and file proof of service; draft letter to court, emial counsel, email clients, update file	0.60	С	\$175	\$105.00
		subtotal ac	: Imin. Fee	6.50 5%	Total:	\$2,075.00 \$103.75 \$2,178.75
306	06/29/23	Misc: Returned deposit fee from 1st State Bank - CK2001		Е		\$10.00
					Total:	\$10.00
		Grand total hours	: 238.98			
			total Weil	or Foo		\$76 033 70

Grand total Weiler Fee: \$76,033.70